Table S8A. Heck reaction database of ethylene as reactant

Reellc[;uon Reaction SMILES

1 C=C.CCCCC(CC)COclcc(/C=Clc2cce(/C=Cl/c3cec(/C=C/caccc(l)cecd)ce3)cc2)c(OCC(CC)CCCC)ecl
C>>C=Cclcce(/C=Clc2ccc(/C=C/c3cce(/C=C/cacc(OCC(CC)CCCC)c(C)eccdOCC(CC)CCCC)eel)cee2)

2 C=C.0=Cclccc(Br)ccl>>C=Cclccc(C=0)ccl

3 C=C.COC(=0)clccec(C)clBr>>C=Cclc(C)ccecclC(=0)0C

4 C=C.COC(=0)clccc(NC(C)=0)c(Br)c1>>C=Cclcc(C(=0)OC)cccINC(C)=0

5 C=C.COclcce(Br)eccl>>C=Cclccec(OC)ecl

6 C=C.0=C(CC(=0)C(F)(F)F)clccc(Br)s1>>C=Cclccc(C(=0)CC(=0O)C(F)(F)F)s1

7 C=C.NC(=0)clcc(Cl)ceclBr>>C=Cclccc(Cl)cclC(N)=0

8 C=C.O=[N+]([O-])clcc(ClheecclBr>>C=Cclccc(Cl)ccl[N+](=0)[0-]

9 C=C.CCOclccc(Br)ccl>>C=Cclccc(OCC)ecl

10 C=C.Cclccc(C(N)=0)c(Br)c1>>C=Cclcc(C)ccclC(N)=0

11 C=C.Cnlcc(l)cn1>>C=Cclcnn(C)cl

12 C=C.CC(C)(C)OC(=0)nlc(CClhcc2eccec21>>C=CCclcc2cceec2nlC(=0)0C(C)(C)C

13 C=C.COclcc2c(cclBr)NC(=0)clcec(Cl)ccIN2>>C=Cclcc2c(cclOC)Ncelee(Cl)cecclC(=0)N2

14 C=C.0=C(CC(=0)C(F)(F)F)clccc(Br)cc1l>>C=Cclccc(C(=0)CC(=0)C(F)(F)F)ccl

15 C=C.Oclccee(l)cl>>C=Cclccec(O)cl

16 C=C.NC(=0)clccc(ClheelBr>>C=Cclcc(Cl)ccclC(N)=0

17 Brclccc2ccecc2cl.C=C>>C=Cclccc2ccccc2cel

18 C=C.COclcce(l)cc1OC>>C=Cclccc(OC)c(0C)cl

19 C=C.COC(=0)clcce(C)eclBr>>C=Cclcc(C)cecclC(=0)0C

20 C=C.COC(=0)clccc2ec(Br)ccc2c1>>C=Cclccc2ec(C(=0)OC)ccc2cl

21 C=C.CCOC(=0)clcc(Br)ccclC>>C=Cclccc(C)c(C(=0)0CC)cl

22 C=C.CC(=0)clccce(Br)c1>>C=Cclcccc(C(C)=0)cl

23 C=C.Clclcce(Br)ccl>>C=Cclccc(Clccl

24 C=C.CC(=0O)clccccclBr>>C=CclccccclC(C)=0

25 C=C.Cclcce(Clheecl>>C=Cclcce(C)ecl

26 C=C.FC(F)(F)clcccc(CCl)c1>>C=CCclcccc(C(F)(F)F)cl

27 C=C.CC(=0O)Nclcc(Cl)ceclBr>>C=Cclccc(ClhccINC(C)=0

28 Brclcnce2neencl2.C=C>>C=Cclcncc2ncencl?2

29 C=C.FC(F)(F)clcc(Br)cc(C(F)(F)F)c1>>C=Cclcc(C(F)(F)F)cc(C(F)(F)F)c1

30 C=C.COclcccc(l)c1>>C=Cclccec(OC)cl

31 C=C.COC(=0)clcc(0C)ccclBr>>C=Cclccc(OC)cclC(=0)0C

32 C=C.Cclcc(C)c(CCl)e(C)c1>>C=CCclc(C)cc(C)eclC

33 C=C.Cc1nc(C)c(l)c(Chn1>>C=Cclc(C)nc(C)nclCl

34 C=C.COclccc2ce(Bryccc2cl[N+](=0)[O-]>>C=Cclccc2c([N+](=0)[0-])c(OC)ccc2cl

35 C=C.O=[N+]([O-])clccc(Br)cc1>>C=Cclccc([N+](=0O)[O-])ccl

36 C=C.Cclccce([N+](=0)[O-])c1Br>>C=Cclc(C)ccccl[N+](=0)[O-]

37 C=C.Cclc(Br)c(C(F)(F)F)nn1C>>C=Cclc(C(F)(F)F)nn(C)clC

38 Brclccencl.C=C>>C=Cclccencl

39 C=C.Cclcce(Br)c([N+](=0)[O-])c1>>C=Cclccc(C)ccl[N+](=0)[O-]

40 C=C.0=C(CC(=0)clcccc(Br)cl)cleccec1>>C=Cclccec(C(=0)CC(=0)c2ccecc2)cl

41 C=C.Clclcc(l)cecn1>>C=Cclccnc(Cl)cl

42 C=C.CC(=0)Nclcccc(C)clBr>>C=Cclc(C)ccccINC(C)=0

43 C=C.ClICclcccc(Br)c1>>C=CCclcccc(Br)cl

44 C=C.C=CCCCC(=0)CCCC(C)OC(=0)c1c(0OC)cc(0C)cc1OS(=0)(=0)C(F)(F)F>>C=CCCCC(=0)CC
CC(C)OC(=0)c1c(C=C)cc(OC)cc10C

45 C=C.Clclcce(l)ec1>>C=Cclccc(Cl)ccl

46 C=C.COC(=0)clcce(CClyccl>>C=CCclccc(C(=0)0C)ccl

47 C=C.ClICclccc(-c2cceecc2)ccl>>C=CCclcce(-c2cccec2)ccl

48 C=C.COC(=0)clcc(Br)cc(C(=0)OC)n1>>C=Cclcc(C(=0)OC)nc(C(=0)0C)cl

49 C=C.COC(=0)clcce(Cl)cclBr>>C=Cclcc(Cl)ccclC(=0)0C

C=C.0OCclcceecll>>C=CclcceccclCO

a1
o



51
52
53
54
55
56
57

58

59
60
61

62

63
64
65
66
67
68
69
70
71
72
73
74
75
76

77

78
79
80
81
82
83
84
85
86

87

88
89
90
91
92
93
94
95
96
97
98
99
100
101
102
103
104

C=C.COclccee(CCl)c1>>C=CCclcccc(OC)cl
C=C.FC(F)(F)clccc(l)ccl>>C=Cclccc(C(F)(F)F)ccl
C=C.COclccc([N+](=0)[O-])c(Br)c1>>C=Cclcc(OC)cccl[N+](=0)[O-]
C=C.COC(=0)clcce(Br)c([N+](=0)[O-])c1>>C=Cclccc(C(=0)OC)ccl[N+](=0)[O-]
C=C.0=Cclcc(Br)ccclO>>C=Cclccc(0O)c(C=0)cl
C=C.0=C(CC(=0)clccc(Br)ccl)cleccccl>>C=Cclcec(C(=0)CC(=0)c2ccecc2)cecl
C=C.CC(=0)Oclcccc(l)c1>>C=Cclccce(0OC(C)=0)cl
C=C.C=CCCCCCCCCOC(=0)c1c(0C)cc(OC)cclOS(=0)(=0)C(F)(F)F>>C=CCCCCCCCCOC(=0)c
1¢(C=C)cc(0OC)ccloC

C=C.NC(=0)clcccecclBr>>C=CclccccclC(N)=0

C=C.COclccc(CCl)cc1>>C=CCclccc(OC)ccl
C=C.COC(=0)clccc(l)ccl>>C=Cclccc(C(=0)0C)ccl
C=C.COC(=0)Cc1c(C(=0)0OC)c2n(c(=0)c1Br)CCC20>>C=Cclc(CC(=0)0OC)c(C(=0)0C)c2n(c1=0)
CCC20

C=C.N#Cclccce(Br)c1>>C=Cclccec(C#N)cl
C=C.Cclccc([C@@H](C)CCO)c(Br)c1>>C=Cclcc(C)ceccl[C@@H](C)CCO
C=C.O=[N+]([O-])clcc(l)cc([N+](=0O)[O-])c1>>C=Cclcc([N+](=O)[O-])cc([N+](=0)[O-])cl
C=C.CC(=0)clccc(l)ccl>>C=Cclccc(C(C)=0)ccl
C=C.CC(=0)Nclcc(C)cecclBr>>C=Cclccc(C)ccINC(C)=0
C=C.0=Cclcc(Br)cccl[N+](=0)[O-]>>C=Cclccc([N+](=0)[O-])c(C=0)cl
C=C.0=C(clccceel)clecce(Br)el>>C=Cclccec(C(=0)c2ccccc2)cl
C=C.0=C1Nc2ccc(l)cc2C1=0>>C=Cclccc2c(cl)C(=0)C(=0)N2
C=C.CICclccceccl>>C=CCclcccecl
C=C.COC(=0)clcc(CheeeclBr>>C=Cclccc(Clycc1C(=0)0C
C=C.COclcc(Br)cc(0OC)c1>>C=Cclcc(OC)ec(OC)cl

C=C.Cclccc(Br)cc1>>C=Cclccc(C)ecl

C=C.Iclccc2[nH]ccc2c1>>C=Cclccc2[nH]ccc2cl

BrC=Cclcccccl.C=C>>C=CC=Cclcccccl
C=C.CCCCC(CC)COclcc(/C=Clc2cce(/C=C/c3cce(/C=C/caccc(/C=Clc5cee(l)cc5)ecd)ce3)cc2)c(OCC
(CC)CCCC)cclC>>C=Cclcec(/C=C/c2cec(/C=Clc3ccc(/C=Clcaccc(/C=C/c5cc(OCC(CC)CCCC)e(C)e
c50CC(CC)CCCC)ccd)ce3)ec2)ecl
C=C.0Oclcc(Br)c2oc(-c3ccc(O)c(F)c3)nc2c1>>C=Cclcc(O)cc2ne(-c3ccc(O)c(F)c3)ocl2
C=C.lIclcceec1>>C=Cclcceccl

C=C.COclcc(l)ce(0OC)c1>>C=Cclcc(OC)cc(0C)cl
C=C.CCOP(=0)(Cclccc(Br)cc1)OCC>>C=Cclccc(CP(=0)(0OCC)OCC)ccl
C=C.lIclcce(-c2cceecc2)ccl>>C=Cclcce(-c2ccecec2)ccl
Brclceec(-c2nne(-c3ccecdeccce34)o2)ccl.C=C>>C=Cclccc(-c2nnc(-c3cceccdceccce34)o2)ccl
C=C.0C(clcce(Br)ccl)(C(F)(F)F)C(F)(F)F>>C=Cclccc(C(O)(C(F)(F)F)C(F)(F)F)ccl
Brclececc2ccceecl12.C=C>>C=Cclcccc2cceccl2
C=C.CCOC(=0)clc[nH]c(=0)c(l)c1>>C=Cclcc(C(=0)OCC)c[nH]c1=0
C=C.NC(=0)c1[nH]c2ccc(Br)cc2clS(=0)(=0)N1CCOCC1>>C=Cclccc2[nH]c(C(N)=0)c(S(=0)(=0)
N3CCOCC3)c2cl

C=C.CC(=0)Nclccc(Br)enl>>C=Cclccc(NC(C)=0)ncl
C=C.N#Cclccc(l)cc1>>C=Cclccc(C#N)ccl

C=C.Fclccc(l)cc1>>C=Cclccc(F)ccl

C=C.Cclccc(l)ccl>>C=Cclccc(C)ecl

C=C.COclcceec1Br>>C=Cclccccc1OC

C=C.N#Cclcccc(l)c1>>C=Cclcccc(C#N)cl
C=C.0=S(=0)(Oclccc(l)ccl)C(F)(F)F>>C=Cclccc(0OS(=0)(=0)C(F)(F)F)ccl
C=C.ClICclcc2cceec2s1>>C=CCclcc2cceccc2sl
C=C.CC(=0)Nclccc(l)cc1>>C=Cclccc(NC(C)=0)ccl
C=C.O=[N+]([O-])clcc(Br)cc([N+](=0)[O-])c1>>C=Cclcc([N+](=O)[O-])cc([N+](=0O)[O-])cl
C=C.COclccc2cc(Br)ecc2c1>>C=Cclccc2cc(OC)cec2cl
C=C.0=C(CC(=0)C(F)(F)F)clccc(Br)c2cceccl2>>C=Cclcec(C(=0)CC(=0)C(F)(F)F)c2cceecl2
C=C.Cclncscll>>C=CclscnclC

C=C.CC(=0)clcce(Br)ccl>>C=Cclccc(C(C)=0)ccl

C=C.Nclccc(Br)cc1>>C=Cclccc(N)ccl

Brclcnencl.C=C>>C=Cclcncncl

C=C.CICclcsc2ccececcl12>>C=CCclcsc2cccccl2
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C=C.CC(=0)CC(=0)clcce(Br)ccl>>C=Cclccc(C(=0)CC(C)=0)ccl
BrC1=CCCCC1.C=C>>C=CC1=CCCCC1
Brclec2cec1CCelecec(ccl)CC2.C=C>>C=Cclcc2cecclCCelecc(ccl)CC2
C=C.ClICclccce(Oc2cceecc2)c1>>C=CCclccec(Oc2cccec2)cl
C=C.0O/N=C/clcc(Br)ccc10>>C=Cclccc(O)c(/C=N/O)cl
C=C.COC(=0)clccec(Br)cINC(C)=0>>C=Cclccecc(C(=0)OC)cINC(C)=0
C=C.C=CCCCC1(CCC[C@H](C)OC(=0)c2c(OC)cc(0C)cc20S(=0)(=0)C(F)(F)F)OCCO1>>C=CCC
CC1(CCC[C@HI1(C)OC(=0)c2c(C=C)cc(OC)cc20C)0CCO1
C=C.Fclcceecll>>C=CclccceclF

C=C.N#CclccccclBr>>C=Cclccccc1C#N
C=C.Fclcc(Br)cccl-cleceecl>>C=Cclcce(-c2ceeec2)c(F)cl
C=C.Cclcccc(l)c1>>C=Cclcccc(C)cl
C=C.Iclcccc2eccccl2>>C=Cclcccc2cccccl?

C=C.Clclcccecll>>C=CclccceclCl
C=C.CC(=0)Nclccc(C)cclBr>>C=Cclcc(C)cccINC(C)=0
C=C.Oclccce(Br)c1>>C=Cclccecc(O)cl
C=C.CICclcc2ccecc201>>C=CCclcc2ccccc20l
C=C.CC(C)Cclccc(Br)ec1>>C=Cclccc(CC(C)C)eccl
C=C.Fclccc(l)en1>>C=Cclccc(F)ncl
C=C.N#Cclccc(Br)cc1>>C=Cclccc(C#N)ccl
C=C.COC(=0)clcccc(NC(C)=0)c1Br>>C=Cclc(NC(C)=0)cccclC(=0)0C
C=C.Cclccce(Br)cl>>C=Cclccec(C)cl
C=C.C=CCCCCCC(C)OC(=0)c1c(OC)cc(0C)cc1OS(=0)(=0)C(F)(F)F>>C=CCCCCCC(C)OC(=0)c
1¢(C=C)cc(0C)ccloC
Brclccc2c(c1)OCCOCCOCCOCCOCCO2.C=C>>C=Cclccc2c(cl)OCCOCCOCCOCCOCCo?2
C=C.CICclcccccll>>C=CCclcccecll
C=C.CC(C)(C)OC(=0)nlcc(CClc2ceeec21>>C=CCclen(C(=0)OC(C)(C)C)c2ccccecl2
C=C.0=C(0)clccc(l)ccl>>C=Cclccc(C(=0)0O)ccl
C=C.Cclcce(S(=0)(=0)n2cccc2CCl)cc1>>C=CCclccenlS(=0)(=0)clcec(C)ecl
C=C.O=[N+]([O-])clcce(l)ccl>>C=Cclccc([N+](=0)[O-])ccl
C=C.COclcce(Br)c(C(N)=0)c1>>C=Cclccc(OC)cc1C(N)=0
C=C.COclccc(l)ccl>>C=Cclccc(OC)ccl
C=C.COC(=0)clccc(Br)c(NC(C)=0)c1>>C=Cclccc(C(=0)OC)ccINC(C)=0
C=C.COC(=0)C=CBr>>C=CC=CC(=0)0C
C=C.CCCCC(CC)COclcc(/C=Clc2cce(/C=Clc3ccc(Br)cc3)cc2)c(OCC(CC)CCCC)eclC>>C=Cclccc(/
C=C/c2cce(/C=C/c3cc(OCC(CC)CCCL)c(C)ec30CC(Ccr)cceh)ec2)ecl
Brclcec2c(cl)CC2.C=C>>C=Cclccc2c(cl)CC2
C=C.COclcce(Br)c(NC(C)=0)c1>>C=Cclccc(OC)ccINC(C)=0
C=C.Cclccc([N+](=0)[O-])c(Br)c1>>C=Cclcc(C)cccl[N+](=0)[O-]
C=C.Iclcceenl>>C=Cclcccenl
C=C.CC(=0)NclccccclBr>>C=CclcccccINC(C)=0
C=C.0=Cclccc(Br)cc10>>C=Cclccc(C=0)c(0)cl
C=C.COC(=0)clcce(Br)ccl>>C=Cclccc(C(=0)0C)ccl
C=C.COC(=0)clccce(Br)cl[N+](=0)[0O-]>>C=Cclcccc(C(=0)OC)c1[N+](=0)[O-]
C=C.CclcccecclBr>>C=CclccccclC
C=C.Cclccecc(C(N)=0)c1Br>>C=Cclc(C)cccclC(N)=0
C=C.0=Cclcccc(Br)c1>>C=Cclcccc(C=0)cl
C=C.0OCclcce(l)ccl>>C=Cclcecc(CO)ccl
C=C.COclccc(NC(C)=0)c(Br)c1>>C=Cclcc(OC)cccINC(C)=0
C=C.N#CCclcccccll>>C=CclccccclCC#N

C=C.Cclcccecll>>C=CclccecclC

Brclccesl.C=C>>C=Cclcccsl

C=C.Cclcc(C)e()c(C)e1>>C=Cclc(C)ce(C)eclC
C=C.COC(=0)clccceclBr>>C=CclcceccclC(=0)0C
C=C.CC(C)(C)c1cc=C(Br)CC1>>C=CC1l=CCC(C(C)(C)C)CcC1
C=C.Clclccce(l)c1>>C=Cclcccc(Cl)cl



